
Problems for Lecture 26 EBA1180 Mathematics

Key Problems

Problem 1.

Compute the indefinite integrals:∫
x2 dxa)

∫
(8x3 − 12x2) dxb)

∫
(ex − 6x) dxc)

∫
(x2/3− x3/2) dxd)

Problem 2.

Find a function f(x) with the given derivative and domain of definition:

f ′(x) = 2, Df = (−∞,∞)a) f ′(x) = 2x, Df = (−∞,∞)b) f ′(x) = 6x2, Df = (−∞,∞)c)

f ′(x) = 1/x, Df = (0,∞)d) f ′(x) = 1/x, Df = (−∞, 0)e) f ′(x) = 1/x, Df = {x : x ̸= 0}f)

Problem 3.

Find a function f(x) with the given properties:∫
f(x) dx = 2 + Ca)

∫
f(x) dx = 2x+ Cb)

∫
f(x) dx = 6x2 + Cc)

∫
f(x) dx = xe2x + Cd)∫

2 dx = f(x) + Ce)
∫
2x dx = f(x) + Cf)

∫
6x2 dx = f(x) + Cg)

∫
xe2x dx = f(x) + Ch)

Problem 4.

Compute the indefinite integrals:∫
x−3 dxa)

∫ √
x dxb)

∫
x
√
x dxc)

∫
1/x dxd)

∫
1/x2 dxe)∫

(x− 2x3) dxf)
∫
x(1− 2x) dxg) x

∫
(1− 2x) dxh)

∫
(x+ 1)2 dxi)

∫
(x+ 1)7 dxj)

Problem 5.

Compute the indefinite integrals:∫
1− 3x2

x2
dxa)

∫
x3 + 2x− 2

x
dxb)

∫
6x

1 + 3x2
dxc)

∫ √
x+ 1

x2
dxd)

Problem 6.

Compute the indefinite integrals:∫
(1 + e2x) dxa)

∫
e1+2x dxb)

∫
e1−2x dxc)

∫
3x dxd)

Problem 7.

Compute the indefinite integrals:∫
x
√
x2 + 1 dxa)

∫
9(x+ 1)7 dxb)

∫
xe−x2

dxc)

∫
x

1 + x2
dxd)

∫
lnx

x
dxe)
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Problem 8.

Compute the indefinite integrals:∫
ln(x) dxa)

∫
ln(x+ 1) dxb)

∫
log3(x) dxc)

Problem 9.

Compute the indefinite integrals:∫
x ln(x) dxa)

∫
x2 ln(x) dxb)

∫ √
x ln(x) dxc)

∫
x
√
x ln(x) dxd)∫

ln(x)

x2
dxe)

∫
ln(x)√

x
dxf)

∫
ln(x)

x
√
x

dxg)

∫
ln(x)

x
dxh)

Problem 10.

Compute the indefinite integrals:∫
xex dxa)

∫
xe−x dxb)

∫
(x+ 1)ex dxc)

∫
x2ex dxd)

Problem 11.

Compute the indefinite integral: ∫
e1−

√
x

√
x

dx

Problem 12.

Assume that f(x) ≥ 0 for all x, and that F (x) is a function such that
∫
f(x) dx = F (x)+C. Is F (x) an increasing

function? Explain why/why not.

Problem 13.

Problems from the textbook: 10.1.1 - 10.1.13

Answers to Key Problems

Problem 1.
1
3x

3 + Ca) 2x4 − 4x3 + Cb) ex − 3x2 + Cc) 1
9x

3 − 1
8x

4 + Cd)

Problem 2.

f(x) = 2xa) f(x) = x2b) f(x) = 2x3c) f(x) = ln(x)d) f(x) = ln(−x)e) f(x) = ln |x|f)

Problem 3.

f(x) = 0a) f(x) = 2b) f(x) = 12xc) f(x) = (1 + 2x)e2xd)

f(x) = 2xe) f(x) = x2f) f(x) = 2x3g) f(x) =
(
1
2x− 1

4

)
e2xh)
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Problem 4.

−1
2x

−2 + Ca) 2
3x

√
x+ Cb) 2

5x
2√x+ Cc) ln |x|+ Cd)

−1/x+ Ce) 1
2x

2 − 1
2x

4 + Cf) 1
2x

2 − 2
3x

3 + Cg) x(x− x2 + C)h)

1
3(x+ 1)3 + Ci) 1

8(x+ 1)8 + Cj)

Problem 5.

−1/x− 3x+ Ca) 1
3x

3 + 2x− 2 ln |x|+ Cb) ln(1 + 3x2) + Cc) −2/
√
x− 1/x+ Cd)

Problem 6.

x+ 1
2e

2x + Ca) 1
2e

1+2x + Cb) −1
2e

1−2x + Cc) 1
ln 3 · 3x + Cd)

Problem 7.
1
3(x

2 + 1)3/2 + Ca) 9
8(x+ 1)8 + Cb) −1

2e
−x2

+ Cc) 1
2 ln(1 + x2) + Cd) 1

2 ln(x)
2 + Ce)

Problem 8.

x lnx− x+ Ca) (x+ 1) ln(x+ 1)− (x+ 1) + Cb) (x lnx− x)/ ln(3) + Cc)

Problem 9.
1
2x

2 lnx− 1
4x

2 + Ca) 1
3x

3 lnx− 1
9x

3 + Cb) 2
3x

√
x lnx− 4

9x
√
x+ Cc)

2
5x

2√x lnx− 4
25x

2√x+ Cd) − 1
x lnx− 1

x + Ce) 2
√
x lnx− 4

√
x+ Cf)

− 2√
x
lnx− 4√

x
+ Cg) 1

2(lnx)
2 + Ch)

Problem 10.

xex − ex + Ca) −xe−x − e−x + Cb) (x+ 1)ex − ex + Cc) x2ex − 2xex + 2ex + Cd)

Problem 11.

−2e1−
√
x + C

Problem 12.

Since F ′(x) = f(x) and f(x) ≥ 0, it follows that F is an increasing function.

Problem 13.

See answers in the textbook.
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